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—————— P@erller Qran® oersCsarariismari ‘ .
e _ Yo @Qeersdpng Guogyd
Siaupipdlen, Cuiwiren s&eue uflwrHpsHamen a@mﬁéﬁﬂ)g 7

(A)  GsfQuéen (B)  evapliGurgemoe
@ sriruey QasrCargd (D) Gl ypemr

——— connects the two cerebral hemispheres of the brain and permits the transfer
of information between them.

(A) Cerebellum (B) Hypothalamus

(C) Corpus Callosum (D) Medulla

Reveowreang @Qeasdaflar Bens 2 pusduien sryemors gHuBeug, @S
&& Gennhs @1ss siésar aellamern allenarailé@L. §)g LHme Geeranto LOHMILD
Dl &&ly. LWESSHar THUBHSSHIUSTS SLDULD.
(A) e wrQuiesy Qe e @ aanGursemerdilwim
(C) evapurseendiSwim ) engrmi®

is a condition resulting from the overproduction of insulin, causing very
low blood sugar levels, usually characterized by lack of energy and often faintness.

(A) Diabetes mellitus (B) Hypoglycemia
(C) Hyperglycemia (D) Thyroid

g ety @Qwersd @0 QaéE Hleewrang ‘I_T)I_ﬁ.GDQ m&.@aﬁluq&mneﬁ QE‘_‘J@U@@DQ
GTEHTLIS T LBGHEN apaLd SABlmb, Ggener aufGomfbgeu .
(A) &medlamT Sy ésHawliinssLo, P'.F' a‘u%lsinmﬁ
(B) pwenn gauflé sHO®, E.L. prrameml-s

&m@mé)uﬂtﬁ&Lb, wreGam

: 5L e
sHLea QnSUrSESLD, < | |
- oal !Dtate ths;@; is impossible to realize but acts as one of the energizers of behaviour
A goal s

is termed as . 'by = "
(A) Operant conditioning, B.F. kinner |
(B) Trial and Error Learning, E.L. Thorndike
(C) Self-actualizati_on, Maslow

(D) Fictional Finalism, Adler
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4. HieQueyn pposeT gﬂ&ﬁg@Gm@m @nUugHaTer PG UE
(A)  pFESHaTne B) g@edluyén sl @Wﬁﬁmﬂ) o
©) «upd | s@T_HwiULTS gmyenTLd
«Sudden Infant Death Syndrome” (SIDS) that occurs in heir sleep is 4ue 0
(A) Suffocation (B) Aspiration |
(C) Regurgitation (D) Unknown causes

6.

PGR -ean e9fleun&sio :
(A) Prime Generic Reactor
(B) Psycho Growth Rate

(C) Polymerase Galvant Reaction

@) Psycho Galvanic Reflex

Expansion of PGR :

(A) Prime Generic Reactor

(B) Psycho Growth Rate

(C) Polymerase Galvant Reaction
(D) Psycho Galvanic Reflex

orafier pamanoas smsAGafc asial LLALGSHLS
(A) e e

(B) &Te e
© ewssiuly pamee roy

(D) HiesTenT ey ey

In estimating the Intelligence of a person Weschler used :

Bp Neaags '

(B) Chronological age

(C) Deviation Inteljigcnc¢ Quotient

) Intelligence Quotient
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(C} GiDtgGLbl_,rr

RBT - 2

(B) (Eerrr.ﬂ(ﬁu_nr';}muﬁ

D) ersCamdlymal
) EI;‘:?Y that classifies the behaviour patterns of species is called
s (B) Sociometry

(C) s |
) Schemata (D) Ethnography

Qummss;)s.
Q‘I?,[ﬁhﬂmg) HL5H605 o_smefllweonemt
uHBIW euenTWemD
(a) &l geans 2L s0Ashsw ) Gapl So®
(b) seTLenandEiu seumseer WarHLD (ii) 1Germamri
Bew@Hw Qelige
() &eps AIGITES HLEOS (iii) euTEETENL 6T
(d) wepdleyseer ECTTaGLONE (iv) @@L eem

erélmQaraT@hbd auiflser
(a @®m () (4

o) @) @ 0 6

Match.
Definitions of Delinquency Psychologist
(a) BreakKing of some law (i) Head field
(b) Repeatedly commits acts which are (i) Plant
punishable as crime -
() .Anti-social behaviour - (1.11) Valentine
(d) Respond to prolonged frustration in (iv) Goodwin

aggressive Ways
@ () (e) (d)
a) (i) ) (i) {%i_]
| O @ @ o
(C} (1) (iv} (i) (111!
() (@) @ 1) {w]_
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9. sl L Opflsoas sank LwuiLbudS &H& | a
B) epsGarGUTAL

D) euCyrGumawT

@Lb Qamev :

A) =2&CrrCumAwir
@ 2, 5CrCumwr

The term used to refer to fear of crowds 18 :

(A) Acrophobia (B) Nyclophobia
(C) Ochlophobia (D) Pyrophobia
10. _ o ereflué @fleurans) pata|oarsslen QUITHETLSSS5IET '—'ﬂ')ﬂ S0
2 ereflwallan upenpuwimer LmLL1 QUIT(HET 6remm) BLOUSDG.
(A)  Sidleurhpe (B) o emUuGLUUMLIG]
@ QaFweum’iguie (D) el

school of psychology believed that the proper subject matter of psychc
was the study of the contents of consciousness.

(A) Cognitive (B) Psycho-analysis
(C) Functionalism (D) Structuralism

11. 2 Lar dé sppéd Cam_um g, R GLHe
2 L QgmifyenLwig.
@A) pamemdley
(B)  roubleres wpwndser

@ BLQawe wnmyib Glurrgjammuurr@
(D) @gueud

ted with i o
(A) Intelligence 8 Symbolic languag
(B) Initial efforts



¥ G

L L LT 7 RET - 2

12,

13.

14.

15.

Q'—""@ Gobum_ g, e@ren euerids wam_ab (ZPD) Cam_Limi_lg.6or
DLWSEMmESTS efleThiGHDS).
(A) LSlqur(Sa

B) pGaurbd Gambevd)
©)  yemenri @

eneuaTLavdl
In language development, the Zone of Proximal Development (ZPD) is the central

C'Dncept in theory
(A) Piaget’s (B) Noam Chomsky’s
(C) Bruner’s (D) Vygotsky’s

ueteflé Qeueurfsda syasamvlia glum b g GﬁJl‘ﬂG&‘JEuﬁ]G?J
S@wEsuuL Caar@bn. iGurg srda wraraisd GgreaeiueWToe
perGarpieuir eraruanss GHUEAGEWD ehg :

LD 9B | B) auss 98

(C) efleneray a9lg (D) priL ed

School activities should be organised in an increasing or.dcr of dif_ﬁ'culty, SO
that students may progress without any failure. This concept 1s emphasised by the
law of :

(A) Law of Exercise (B) Law of Readiness
(C) Law of Effect (D) Law of Aptitude

<24, (EHENLDLT LIGHTL|SETTEN §CP5 seliY, SwasL_Huur@ whHmib @LJ.[TQH:JLS]GHJG?T
2 rmidng Gogib G 2 (EFEnLUT 6 FTHTTERT DDFESEDET SIEPLITETLD STERTELD
kL ayb LweruREmSI.

(A) MMPI (B) WAIS @ CP1 (D) TAT

examines personality traits such as sociability, self-control and reslponsibility
msed primarily to identify and assess normal aspects of personality.

(A) MMPI (B) WAIS (C) cpI (D) TAT

e Ol @mﬁg@mmLGmunm @enL_efevanuimeng) emeur HEDTmHeuflen
ﬁnyﬁi_ﬁguﬂwm 6Ulq.EUEN L LIS E ppold g Qurgeurean aueTiddll LTTEES
gz;lm@&ﬁm@ @aean TG HENLPSHFHEMLD.
a) smsbluY il B) ursSr pigliy wrH

Sipér o ufleurgsenan wrglfl |
(©) : between mother and child in which each, in effect, shapes the other’s
The mterPlagh:s given rise to & view of general development called as
environmen

" The confluence model (B) Role play model
(?:]; The cumulative model (D) The transactional model
(
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16. walls ageid wHmyD aﬂwwgﬁmgwsuﬁ"
el rereneuuduid < eussHlenan 'ﬂ% sflo STOLET
LI ITen. -
(A) Q_nuﬁem AT AT . mneLIT
6
€) yaour GCar D) GLG&L— lea::us ways
‘Anthropometric laboratory for the measurement 11

faculty’ was established by
i n
(A) Lewis Terman (B) Francis Galto

(C) Alfred Binet (D) David Wechsler

of human form an,

17. Gybessaib L1 Lsmsemer EAGRIEA o6 -GEI‘I’U.IFI’@&GTHGDI'_GU—" 5553”6;“@?
SLOUUESSLILLTS Lwib Gurerp werdeupéflow B&@GasHELWL U@
Carung -

(A) SLOUURSSILL L glomsed Car_um
SLOULGSSILCL ger_e> Gam_um()
Q) sLBLUESsILLTS Slomsgd Carlur®
(D) EIJ_@L'JLI@;_'I;@QUL@ grexr_a& GCam_um()

The theory which can be used

to eradicate bad habits in childr
emotional fears in mental pati

ents is :
(A) Conditioned Response Theory
(B) Conditioned Stimulus Theory
(C) Deconditioned Response Theory

(D) Deconditioned Stimulys Theory

en and deconditioning

18. ‘@aANLITeng6l e iy’ eTemmiLh csamgpa’sa;ﬂu@é]ﬂ@
(A) @Lq.a.l!rg, uUIabs Blena Gasrrmr@j '

SeUar LHprEEenn (Eﬁrra'rrrgj
(C)  wer Qmsss Gasrrmrr@

D)  ereamasGar g <2 @5enin Ga;rrermm,
1° 2180 KNown a8ty pertineniy:
(A) Obsessive Compulsive disorder

(B) Attention Deficit disorde
(C) Autism disorder

r

(D) Borderline personality disordér
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19,

unrdlemgl (Ba;rrLuranq_éur g GHLEL LLED wrpm
A) Qs 2 emiay
B) @ 2 ariray
@ uanrans Qafley o emrivay
(D) m@méwr 2 awTivay
Purkinje Phenomenon refers to the changes in :
(A) Sensation of Touch
(B) Sensation of Sound

(C) Sensation of Colour brightness
(D) Sensation of Odour

@@ edwrasder srpHlusseiud upPlu dlaurghd HLEmESID AEGRUTTS
LID@neUSET eTEIBIGND Ln&Hng) eremLig) sTips 2L s Sulenen eflomerd LPLILISDHESTE

BlapCGaur® Qsr_ijuBssse D (GLD.
Cprig eliyewn (B) sSHUMET eLIL|GHLD
(C) safllpum guiLeno (D) <BIELWITET gpLIL|ENLD

If aerodynamics of a plane is under discussion, the group may explore how birds
manage to fly and thereby seek insights into a plane’s aerodynamics; this is related to

(A) Direct analogy (B) Fantasy analogy
(C) Personal analogy (D) Symbolic analogy

b Gurg gHU@D LIy &TiEs Gepurl® Cpmisener
QurmHEETES TS 7
(A) GQepandr SL_CLmBupfwm

ST syflaurdr @rssGsTams ECrmLgreSlwm
NOT a genetic birth defect that develops during the mother’s

(B) Gemer genpumr(

(&)
Which of these 18
pregnancy 7

(A) Phenyl Ketonuria
gickle-cell Anaemia

(B) Down’s Syndrome

(D) Xerophthalmia
(€)
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22.

23.

24.

&D9550 sHP wrdfufer 5 E -ssaflear (panpuwimes aflevsews s .

(A) Explain, Engage, Explore, Elaborate, Evaluate

Engage, Expiore, Explain, Elaborate, Evaluate

(C) Explain, Elaborate, Engage, Explore, Evaluate
(D) Engage, Elaborate, Explain, Explore, Evaluate
Find the correct sequence of 5 E’s in teaching - learning model.
(A) Explain, Engage, Explore, Elaborate, Evaluate
(B) Engage, Explore, Explain, Elaborate, Evaluate
(C) Explain, Elaborate, Engage, Explore, Evaluate
(D) Engage, Elaborate, Explain, Explore, Evaluate

@M pLmg Qewdle earerrihs ,feud Gopub Qurupg LD casdseamer
Sefluugre ghubeug :
giamguwien edlenemey B) =z Quuwidiy efenearey
(C) Smudlsr efleneray (D) embirdedlwm GpTGeumenm
Decreasing intrinsic interest in some activity by supplying an extrinsic motive for the
behaviour : '
(A) Circadian effect (B) Over Justification effect
(C) Satisfaction effect (D) Anorexia Nervosa

2 p&&1D eranug @ e Wiflandens Lsd-@Qrey shiés, QurmSsL UM (HepL WG @D
QUL TGS MILD BIGIELPEDD :

(A)  sanqiaT SIEEPDD (B) sréeurafls signiEuen
(C) &NCasflwen 2igmi@penn FTGHIG W6 2igm) @ pan

The approach that suggests sleep is evolved as a way of fitting organisms to the light-

dark cycle is :
(A) Canadian approach (B) Calvanic approach
(C) Gregarian approach (D)

Circadian approach
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26.

27.
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e Lfﬂfmw.uﬁlmqr genﬂ,r_r;ur'.r&sh Sy QILONS 2 auniieugy, Flanafia jeursar GraaT®
e Sl SIBHGLD G_anuL_L. CTERTERTRISGT, LOGTLILITENEILOSET B660E) HL_HESEHETTaET
@eDr® wHQAprdny Heassaramio SIDDSTE 2 awriouGs eramamid.

(&) smyemoiy 6T T GRT (LD @OTLIT (B

(©) Qurr@@g,ugwq_mmm (D) sHywEsTL &

1s a state in which individuals feel uncomfortable because they hold two or

more thoughts, attitudes or behaviours that are inconsistent with one another.
(A)  Attribution (B) Cognitive Dissonance
(C) Maladjustment (D) Self-perception

sen sHdSEIL B mbE suasams QUD wWywns Gwhos sar opdfuflBlmbCsT
DDg) 19 euetihs ansalLmBCsT sSauabms QU ellenLpu|d HL SN :

(A) Garuwrer pLSds (B) GenarenL_ged

(C) &GO @ @Lwrhon

The phenomenon of a boy who is unable to get the attention of his father, turning his
attention towards his teacher or some other adult male is called :

(A) Aggression (B) Regression

(C) Repression (D) Displacement

o @anaLl LD e arenio HmID blurg sidleel Heaearalle) emeuggis Qarerar 2 gajb
Hlenena :

Qemp@unpe sTips floaay (B) penLapenp smips Heveara
(C) eI Hlenara, D) sHEFwD Henaray

Memory for general knowledge and facts about the world is known as

(A) Semantic memory | (B) Procedural memory
(C) Irrational memory (D) Incidental memory

[ Turn Over
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RBT - -2 12
C JEer— - R QueblspainEhd, Qsafa @(H UTTSHOS DI
CeuafiiLmLTang) WpQenIng JleiauTisans gl sHeS! He e
QurpHaid g QST W Saeudsemer Hlanara snn 2 F6IEDSI-
2_(heuanLiLig.aild (B) Gleu QLrefl Hlenenay
(€ pr-peafl Hlape (D) psaTewULBHSS
—is a phenomenon in which exposure to a word or concept later makes it
easier to recall related information even when one has no conscious memory of the

word or concept.
(A) Schemas
(C) Tip-of the-tongue

(B) Flashbulb memory
(D) Priming
29. pamuisEpsdear Cu e drar QBMHESSDS lgLUMLW ras QerTaw &
euensLLIr( :
(A) QuBsb anOssT euensLILIT(H
(B) &lQr et euensium(
FLbaire euandLILIm(H

@ Faedlen euensLILIT(H

assification of groups based on the degree of intimacy is :
(A) Bentham Hooker Classification

(B) Kretchner Classification
(C) Sumner’s Classification
(D) Cooley’s Classification

E.G. efdewbsaiar ApAlLBSEID Siflejey Lsisaler Lgsemar auflesliLBéss.
(b) G@OWHIHD (© <=idleyerr LISTHD
UGSSDISD  CerEsssD

(B) (e), (b), (<), (a), (B, (d)

(), (9, (), (@), (©), @
© (@, @), ®), @, 0, © D), @), b, ©) @), @

e following steps in Directive Counselling given by E.G. Williamson :

30.
(a) (penaTdipe
(d) Ger-Ggri GEwe (€]

Arrange th

(a) Prognosis (b) Diagnosis (c) Counselling

(d) Follow-up (e) Analysis () Synthesis

A) (e, @, (b), () (c), d) (B) (e), (b), (c), (@), (), (d)
(D) (B, (e), (b), (c), (a), (d)

© (@) (e, (), (@) O, ()
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31. Gaiys HmCuailseafier QuTpsTeLD erem) LS(peRTLTES SMTERTLOTGTGUT :

QeFbiQwen wrGsed (B) @bsened
(©) eurenorGsel D) GsriQuppese
32. sflurst QurepBGLU@SS CoTHABWES.
Q#ned - Qunqwen
(A) Qsmevg - Sjeuemid
(B) eNdlgid - &0
(C) euemey - e flewwyeLw
@ Furd - @mQwmflyeenowenL e

33. ‘Gauemd’ - rangild GemdainE Qar@ésLIuL_Heter QUIEHETSERET apuirang)

TSl ?
(A) seLd Q5T (B) SigSSEID
(€ &mq_.u_urénb Gampamed
34. ‘Gun(HLd Siemwdyb’ ufegems erpHueur :
(a) geuanierd CH®H LTG0 Ml
(C) Quirenm agm (D) QuiyaRrL Fevened

35. “CargHyd umruug) D BSEHTOLD
 @emTg@gL Umilug) QpHs&sTOLD”
- @uum_e auflsenar erpdw sel@pit :
A)  ul@&ECam e SOWITERTEDHSTLD
@ o [uoeve prymwieHae]
C) ms s
(D) LeenoUISSe
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36.

37.

38.

39.

41.

' o R Yletr;
‘Y OHem 196" - @sedr GaLHaamub, ellEHewitdd AL o
Gl'@@us‘nmmmﬂ‘;j)@ Qossans GHNULS STHE.

A) Quw@rssnd (B) ﬁwm@w#&@

@ enengQgrens (D) eflvanepOm

wroulL. B&EES Agriers CaiposHss.

W g g8 © arar (@ GurCur
“Gemm” erengid QummeT Hrme Qerd erg ?
A)  <uded B) ol ©) Bsoa @ giafl

196 eramm eramgmisEiu sulCpaTaans CorbOsHES 6T (SIS,

A) 2 & & B) m & & @5&& D) & & &

“rHD Swbewssnss saflOpy.d, @piisn, 2 WATGALL, eudaiarb, Glweederib,
@eL_ulemnd”

— @@eu QuTmHBESH QLD GedEamTid.
@) Gdilwdlsrd B whdlwgismd
@ GDHUISTD D) ephmibenio
et g S b b b s 6 s
@) fss pogri (B)  sriusbLmg
® &prir Qasofl D) smeflfliigibui g amp
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42. “Gaupmenwo LIGuTL | 2 e gy dlwer Qgriiblencd
Qg,rrL_ﬁ'a;aTrr@Lb".

- Cupsramib Geiifuie edGLLGérer 2 muiLsamens Osfey Qsls.
(A)  YBEOuWLIT, erQLrfstsTms

cllaver, 2 oueni

(© o MeQened, HRQsTE

(D) denssQsre, cu_Game

43. QurBHsTE®SS Coray Qsls.

(A) srHensS Senant - yflersener BLL@
(B) 2 1feness SHevewt - Soad &HM umaTSSED
(C) Hberus Slenewt - uesCeupsi @meumd Qeun gerepGu

@ECararmss Csran(® CuryriHeug.

Qeup QuDD WeeTan UTENSL LLF G lg-
élLpeug)

euEHElF FHenemr

44. Neenppm. QuwiE Qere, ellearns Geme < Hu @eupierars Lwalmeownss

QamesT(h (LPlgeUS -
(A) prrsh‘raarrLb GeupmienLo (B) @rerLmb Ceupmento
@ s GeupmenLo (D) <=mrbd Geunpmeno

45. o (e anfun® Qs Qeul L Qaueflenwd sLeyermis euyfluc L e :
sHCeualls H55T (B) @seus ST

(€ umburiigd ASST D) ipEes Asgi
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46. LOMy6N - LM GTeM Quuisef

. . I.‘r
(&) @pgiyan i
(B)  pmasen - Quflwmpeurt
@ LDGITLOG 6HT - JDLbLDITQQJHTf' |
(D)  eu(menTe - QumienswmpelTT

: 3T QUG
47. e(peuma Lmeu wsafmer QLgLbenL, .auﬂmmuﬁ]ﬁfmu i
8—11, 20— 25 - ® 20—25,8 g
(C) 8-11, 1419 D) 26-32, 8-

48. pBOGTey TG :

A) Qumb Qere Sf Qamed (C) Hengé Qered (D) euL Qs

+ Qemenwouer @erento eAlmBAGmrmed QUENTENLOWLJGIT

QUETeLD WL eumits Quirenp.

- @&EnC_uredd DINLD[H g ear &mﬂuﬁlmeﬁ@ GCairay Qe
M Boune @ uaf

er @SﬂéﬁwLG 2_6uenLd wiemfl
(C) 2 cuand wenf)

(D) Cﬁsug‘)gmm W et

80. QurEpstsad@DS CoibAsGsg o
(A)  sawemTenr LT, &ue

@ Gun wpeue, (g Cay

(C) Gger weny, (SUAAET P

(D) '

Wais.

51. senQampm Qi d

- TG E GDEEH Qerg.
(A)  euudpmeusd

(C) BrGluumpm)
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S2. SHeuemgwiriv QerupBlu e wiey Aupp Apdlsaier sfwrar aufles weperw

Thsginss.
(A) UL - e FOUGST - AgraRrLi
&BHSIT - G,srrg;r’r wrewflE&seursst - idleyen,Gumr
ST - QgrarLit FOUBST - LOSET
SHSTT - Gamipir wreatléseursst - SidlayenGuirr
(C)  @wu - Qgmawrir © #bupsT - Campi
mﬁﬁﬂﬁ - D& wrenfl&seursasi - sidleyen_Guimi
(D) @ur - Gampir FOUGBST - dleyen_CuimT
SHETT - &6 rerfléseurgsi - Cgmerrit

53. sflwrereuperns CsiH0sHES.

(A) ympmr - er&&mardl (HLd
TMmS - GRAGWL
cu et (h - S|@LILLD
GIRG - PIYL
ymm - BRGL
eT(H - er&Eremd(Hid
e - PrYW
GG - S|QLDLJLD
(© upr - TR
(TS - QeuUyw
adr® - GRGD
GIRG - eréararfi(Hib
D) ypr - S@UYD
TSI - TQId
uar® - erésmeTdl(HLd
GG -  GERGL
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54. “LgDmHerd” eTED Andesslw UMEMWS @‘@LJI:QL_I_?’H
aorapefiur (B) Glgrre)asrrunﬂlmn

(C) meneyrevmi (D) srélu

55. wrsenr SeTemeud saTESl[HS.

STLILITET .
oBSenT rSSleny (B) &bal LorSSlenT
(C) prene LISy (D) <m wrsglen

56. imsd - eratugean Qassand GOILIL S([HS.
wperaflena gmeno allener(LpHmI
(B) eflwmiCsmer aflenarpmmi
- (©) HenarQussid

(D) gewend emHend edlenarpmm)

57. geue ellenamuns u(mHeug)

e B o © @oLfes (D) s

58. fenasbare, HNCQame, @u@@l&rreb. QUL Gl&Ted eramand wpenmuled SIELDHFETE
fley ergy ?
(A) sweod, 2 &, uPPLD, ST
(B) &r(®, Qummb, Sweid, 2 &
@ Qupmwb, 2 A, &1, Swelb

(D) 2.4, swe, s1@H, QuppLd

59. “spriu AuGbgen We Leremg Us Cengs wememen -

(A)  sflarh Gamypen (B) _
@ <UL eng 4l (D) Ay Gemper

GoGssiyy I8 16
60. L + SIPG = BOUPEG ereaitigy eTeucueng Lemrits8)

, QS
© ovouBQuwi yaniss o

L|emTT &S]
D) Quény ez
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PART-III
ENGLISH

There are 30 questions in this Part. All the questions are compulsory.
61. Under which category does the compgund word school girl come ?

(A} Noun+Verb :
(C) Verb+Noun .

Noun + Noun
) Adjective + Noun

62. Semantic mapping is a strategy for vocabulary expansion.

(A) audio visual
(C) aural and oral D) oral
63. Choose the correct noun form of dedicate.

(A) dedicative dedication (C) dedicated (D) dedicate

"64. Choose the appropriate question tag for the sentence given below :
“Let_us go for a walk, \

Shalil we ? (B) Willwe? (C) Canwe? (D} Should we ?

65. Match the following words to their meaning :

A B
{a) miracle (i) greed
(b) obscure (i) fully grown _
() ripe (iii) magical happening
(d) avarice (iv)] unclear

@ b (© (@
@) @ @@ @@
@) () @ 0
© @) @ 6 @)
O @) @) @ @

66. ‘Cinquain’ poem contains _ lines.

A) 8 5 C) 6 D) 7
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67. What kind of thought does the sentence express ?

“0, for five golden guineas!” -

(A) Request (B) Assertions @ Strong feelings (D) Wish
68. Which semi modal refers to a discontinued habit ? ' .

(A) dare (B) need (C) ought to used to
69. “What are you doing here ?” “he cried in a very ‘gruff’ voice.”

Identify the antonym of the word ‘gruff

(A) Unfriendly and impatient @) Friendly and amicable

(C) Deep and rough D)} Pleasant
70. Arrange the sentences in an order.

(@) It was infested with thieves and robbers.

(b) Once he travelled on his horse through a lonely road.

(c) Hubert was a little boy of fourteen. ,

(d) They took away his horse and beat him black and blue.

(&) @ ® @ @

B) (@ (b)) (9 (d)

© (O @ @ ©

D) d (o @ ()
71. Identify the sentence pattern given below :

Experience makes one wiser. o

A) S+V+O B) S+V+A

S+V+0+C D) S+V+I0+DO
72. ‘He lifted his head from his drinking, as cattle do.”
simile (B) metaphor (C) pun (D) personification

73. “Now this road that I travel

Is dirty and battered
It’s littered with dreams
That are broken and battered.”

- The rhyme scheme used here is :

abch (B) abed (C) abab (D)

abba

[ Turn Over
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74, Fill in the blank :

A AT AATATE R AT A

____ isusedto find quickly the main ideas of the text. _
‘ Skimming.  (B) Reading (C) Scanning (D) Underlining

75. Identify the correct compound word ‘Adj+Noun’.
(A) sky blue black board (C) school girl (D) down cast

76. Putting two sentences together without a full stop or connective is called
(A) Run-Out _(B) Run-Off @) Run-On (D) Run-UP

77. ‘netizen’ means :

(A} computer programmer (B) data entry operator

@ an internet user ' (D) telephone operator

| 78. Thé word pair, (know, no) are called

(A) synonyms (B) homonyms @ homophones (D) antonyms
79. She her children with love and care.
@ brings up (B) brings in
C) brings about (D) brings out

80. Choose the correct Sy]lab1ﬁcat10n for the word ‘laboratory’ from the op’nons give:

below :
@ la-bo-ra-to-ry {B) la-bo-ra-tory
lab-o-ra-to-ry : (D) labo-ra-tory

81. Identify the right spelling.

(A) inscripsion (B} inscreption @ inscription (D) inscrepsion.

82. Choose the correct option :

I met my friend while I the road.
{A} am crossing crossed
(C) were crossing ‘ was crossing
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83. What suffix would faith’ take to become an ‘adverb’ ?
(A} -ful (B) -less @ -fully (D) -ness

84. Find out the ‘infinitive’ among the following sentences :
(A) Seeing is believing ‘ To err is human
(C) Work while you work (D) Make hay while the sun shines

85. Philharmonic is a

‘Tetra syllabic word (B) Tri syllabic word
{C) Penta syllabic word (D) Di syllabic word

86. Auxiliary verbs are :

(A) content words (B) structural words

(C) inflexions (D)  helping words.

87. music, he is also interested in painting.

(A) Beside (B} Besides (C) Apart Both

88. Find out the correct indirect speech from the options given below :
She said to the teacher, “May 1 play now ?”
(A} She asked the teacher might shé play then.
(B) She asked the teacher if she might play then.
She asked the teacher if she might played then.
(D) She asked the teacher whether she might played then.

89. What is the correct salutation for an informal letter ?

(A) Dear Sir Dear Granny
{C) Yours truly D)

Respected Sir
90. Replace the adjective phrase given in italics with an adjective.
7 ‘A crown made of gold was presented to the king.
(A) A gold crown '
(C) a crown of gold (D)

A golden crown

A crown of gold

[ Turn
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u@S-IV / PART-IV
Sifiey-A / SECTION-A

eSwey / MATHEMATICS AND SCIENCE

SeméE PO Sif
3 ' (G &8 Goua(hLb.
QULESHGD 60 camssdr e aTaTar. SEPSH CHlTESE@FESEL aflepLwierl ®
There are 60 questions in all in this Part. All questions are compulsory.

91. augeflwe smeill QuiguilgieTeT apana ol Ligefler 2§88 Gament Sjera|ser .

(A) 30° 60° 90° and 40°, 50°, 90°
(B) 45° 45° 90° and 45°, 45°, 90°
(C) 30°, 60° 90° and 30°, 60°, 90°
30°, 60°, 90° and 45°, 45°, 90°

The sets of angles at the vertices of the set squares in the geometrical instrument box
are :

(A) 30°, 60°, 90° and 40°, 50°, 90°
(B) 45° 45° 90° and 45°, 45°, 90°
(C) 30° 60° 90° and 30°, 60°, 90°
(D) 30°, 60°, 90° and 45°, 45°, 90°

92. x2-x—2, ¥ +x-6, 3x-13x+ 14 QaupBlen BLQLH QU euELILTET -
(A) 3x-7 B) x+3 @ x—2 (D) x+1
The H.C.F of x>~ x-2, X2 +x-6, 3x°~ 13x+ 14 is :
(4) 3x-7 B) x+3 € x-2 D) x+1

93. &pssam_apdle erg L PG DD 2 ulflamd ?
(a) swevarflev  (B) pses (C)  wamyqy @ QerCarrflwm
Which is an acoelomate organism ?

(A) Ascaris (B) Snail (C) Earthworm (D)

Planaria
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04. @Uﬂ'@ggws
e IR 616w
oy BEwline 6§ 108
DO () 106
(©  apmedwib (i) 109
EGumiduid (v) 107
S ) 105

(A)  (a)-@), (b)-(ii), (c)-(iv), (d)-(v), (e)-(ii)
(B) (a)-(ii), (b)-(iv), (c)-(v), (d)-(i), (e)-(iii)
(C) (a)-(iv), (b)-(v), (c)-(iii), (d)-(i), (e)-(ii)
(D) (a)-(v), (b)-(iv), (c)-(i), (d)-(ii), (e)-(iii)
Match the following :

Element Atomic number

(@) Dubnium (i) 108
(b) Niels Bohrium (i) 106
(c) Hassium (i) 109
(d) Seaborgium (iv) 107
(e) Meitnerium (v 105

@) (@)-G), (b)-(i), (-6, @), (e)-6)
B)  (a)-(), (b)-Gv), ©-), (-6, (e)-Gi)
©  (@-v), (b)), (0)-Gii), (-, (&)-G)
D) (8)-(v), (b)-v), ©-0), (-G, (e)-(id)

3 | Turn Over
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95'

96.

97.

98.

12 w Q.82 Qursstiriiy Qsrar_ Hero @raEGarensdlen euepeTurLL :

@ 8 mQa.15.2 (B) 6wQg.8.2 (€) 36wQs182 (D) 24w Q&.15.2

If the total surface area of a solid hemisphereis 12 7 cm? then its curved surface area
is equal to :

; 2
(A) 8 mcm? (B) 6 mcm? (C) 36 wcm? (D) 24 wcm
3, E, l, l. —1—. eramm QErLigpenmuiled 2i(HSS oMUl :
2’ 2’ 8’ 40
1 1 @ 1 1
— PO Y Pl T D —_—
T B = 240 Ol 330
Th T g 2 L 2 L o
e next term o € sequence J, 2’2" 8’ 20’ 5 s IS
X — g g —— B =
A T B 220 © 220 ) 3230

umiwkiseien Si(pésseas BleTedll 1 LWETUHL HOES :

a) &.48. 85-1Qs2 (B) Bl L e 52

(C) umevae @ Cuopsear_ siemangg i
| The pressure of fluids is measured using _unit.

(A) kgm~ls~2 (B) Nm~™2

(C) Pascal (D) All the above

Epssam Carencusafled 68l (PPauT&sLOOH ?

(A) 9x%+6x+1 (B) 9x?+24xy+ 162
(C) 16x2-8x+1 4x2 + 6xy + 932
Which one of the following expression is not a perfect square ?
(A) 9x2+6x+1 B) 9x2+24xy+ 1642
(C) 16x°-8x+1 (D) 4x2+6xy+9y2
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99.

100.

101.

102.

11 @E..LB. 12 G&.LE-. 13 Q-&.LE. ... 24 Qs.18. Sy duatapep papCL LSS DG SETTES
QaranL 14 sgirmasefien QursslLrli Smewr.

(A) 5415G@s.82 (B) 5145 Qg.8.2 @ 4515 Q&.8.2 (D) 4155 @&.18.2

Find the total area of 14 squares whose sides are 11 cm 12 cm, 13 cm ... 24 cm
respectively. i

(A) 5415cm?  (B) 5145cm? () 4515cm® (D) 4155 cm®

*® @%GBWWE,@G%T Caramiadr 2 : 3 : 5 crarp HASHEHD o_creran erefled
CoTeRTRISETIE S6T6SETTELE :

(A) 40, 50,90 36, 54, 90 () 30,50,100 (D) 20, 30, SO

In a triangle if the angles are in the ratio 2 : 3 : 5, then the angles are -

(A) 40, 50, 90 (B) 36, 54,90 ©) 30,50,100 (D) 20, 30, 50

@ Qranh Qo&s cramanien Gevssmisafien sa(Hge 11. @ &ESHHISHEDET @L orHl
SiwEEGD Curg SoLsE GTHT (PHENSILI GTETEERT AL 9 Gonay erailed JibS
GT GHITGN GWTS SITERT.

(A) 56 @ 65 C) 74 (D) 83

A number consists of two digits, whose sum is 11. The number formed by reversing
the digits is 9 less than the original number. Find the number.

(A) 56 (B) 65 (C) 74 (D) 83

cranel, GeNDD Qfley I -6 LyGrrGuev I -Gé pen-Gumid sRwrer QemLi
cuflenswr@Lo ?
(a) g L1Germig 6T b) uréSliger ) QeliGLmger
(d) e Caig 6 (e) L WiTenaanadl6v
A (@ () (© (d (© .
® © @ ® @ ©
© (@ (© b (@
o) (e (© (@ (@ (a)
Which is the correct sequence of stages of prophase - I of meiosis I cell division ?
(a) Diplotene (b) Pachytene (c) Leptotene
(d) Zygotene () Diakinesis
@ @ b (© (@ (e
®)  © @ (©® (@ (e
© @ © (® (@ (e
D) © © @ (b) (a)

[ Turn Over
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103. (pULc L sgfen Gamamb ‘A’ HensomppéGanamd d’, LGGsTeD T LD!‘-’@; . EE'B‘E?%W%
e’ 2 arer @m UL LsD Agws Qm&mﬁﬁﬂ)g@"w Revauded MG Ur(pg,
Slemeu(meuamauh e ThES Fapm Filwreng ? _

(A) i>e B) i<e @ i=e (D) ?zf’:d
If a prism having an angle of prism ‘A’, angle of deviation ‘d’, angle of incidence §’ ang

angle of emergence ‘e’ is kept in the minimum deviation pesition, which of the fﬁllowjng
statements is true ?

(A) i>e B) i<e . (©) i=e (D) i=e=d

104. @@ ari 5 wefl CprsHa 400 H.8. gy sLsApg aTalled, BiHS ST Bisan Lng
Caasfléd QearginGurg 7 wenfl 30 HBlLkisalld sLEGED SITLOTES) -
(A) 600 &.i8. 300 4.5 (C) 560 &..5. (D) 280 &..6.

If a car travels 400 km in 5 hours, then the distance it covers in 7 hours 30 minutes
at half of the above speed is :

(A) 600km - (B) 300km (C) 560 km (D) 280 km

105. a+b=5 wHmib a~b=4 erafle, a2+ b2 opOID ab < EweupBlen i aser

wenpCu :

65 33 41 9 1 & 9 12
(A) . @ 2’2 (C) 9—2', ¥, (D) 2 7
Ifa+b=5 and a—b=4, then values of a2 +b2 and ab are,

65 33 41 9 1 3

65 33 m 49 13 9 12
e B) 23 @ 83 D) 57

106. Spasar_cuple 2 ey LTESTILTaTTS LweTLReug; -
Gemgwid QuaGerGuL, #reldlells yfap
(B) wurmfilé b, f s b
(C) Hemamdls Dfeib, Oréigd @Saib
(D) H&evredls s, FTeldledd efan -
Which of the following are used as food Preservativeg 7
(A) Sodium benzoate, Salicylic acid
(B) Formic acid, Acetic acid
(C) Cinnamic acid, Lactic acid
(D) Oxalic acid, Salicylic acid
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107. ue Wen seLwrsdaaflar e semLasar GeucuCain B LIS O\ & meger (R GTETET.
Saphan uss GaerLlld @emeansE Curg, Qgr@uwe e gevLuien
wHiureng) .

A) Quiiu BergenL wuemu L uflug
(B) &Adw L&s&rgm_ wétieru efli Guilwg
(C) Semangs Wenge safler gymsfl wHl

Sdw BengerL wHieu efl APug

If many resistors of different resistances are connected in parallel, the effective
resistance is :

(A) Greater than the greatest value of given resistance
(B) Lesser than the greatest value of given resistance
(C) Average value of all the resistances

(D) Lesser than the least value of given resistance

108. aowsCaTenrEn gal_(HUif eumpSSLITETS o wirgmeuy GeulHEné@GLD wHDIL
&L e-flw QmLfienLs GDEEDS. B

(A) eneuyen (B) unsefwm

(C) LEhmEEST B Ligid LTS sET

Mycorrhiza is a symbiotic relationship between roots of higher plants and
(A) Virus (B) Bacteria

(C) Fungi (D) Blue Green Algae

A : ' [ Turn Over
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109. Gumfien igyordferw’s QurpSSH SeDTE

(A)
(B)

(€)

©

46

b
H

Qsmp@pmeoyd STEE

S GG L uwwgu&’id: crovsL_ymefle S DO TIPS

mvr=nh/2w .
SigEsm®as s e TTasdT abagl e GHLGIL L QULUUregg,
(A Hser) WL Hid Gre |

@0 Hoolldmbsy wHQprm Hoawsd asLgrar GHEGD Curg, 3y
< prea 2 HlgreGar o 1fipCar Galwmg

Find out the wrong statement with regard to Bohr’s Model of the atom.

(A)

(B)
(©)

(D)

Energy of an electron in a particular path remains constant
mvr=nh/2nw

Electrons revolve round the nucleus only in certain selected circular paths called
orbits

If an electron jumps from one stationary state to another, it does not absorb/
emit radiation -

110.A, .B, C G'r.s'mua.l'r'r G Camaou papGu 12, 24, 8 prisafom (P Ig LI TTET.
@LDG)GU(:IDLD G&#{bg e pret GCauame Gawugart. 96t C afad @& erafled A, B
Qmaumb Baperer Caumawaws (puss @y @b BUL_&6T, cTégenan ?

(A)

7 BrL&er (B) 18 prseir @ 6 Brlser (D) 10 pmser

day. After that C goes out. In how .
* an g many days will the remaining work be finished b
(A) 7 days (B) 18 days © 6 days (D) 10 days
ay
111. @ erawaer S : 3 eram flfgsHdh 2 craran :
CTERTEHENETE & ITelT. SNuDidie Gﬁlﬂigﬂu.nra:w 18 crefla HF
(A) 54, 36 (B) 38, 20 (C) 45,07 (D) 50, 32
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112, V] [NTHT Carencusger 23 +ax? + 45—
(x=3) @ e UGESE fen &b Bflser g0
27

RBT -2

12 0pgD R +x2-2x+a oyduaihen
b erafled B84 -

(B) 54 (C) 81

(D) 9
If the Polynomials 2,3 + ax2
3 +4x—-12 and i ;
when divided by (x~3), then the re X°+x2-2x+a leave the same remainder

. mainder is :
A) 27 (B) 54 © 81 (D) 9
113. Spssam_ o Carsisais 8 <ifls fen 555 Aper Qararg ?

(A)  smbyibd B) sgfeflub (€) @miy Qeuerarfl
Which among the following metals possesses highest electrical conductivity ?

(A) Copper (B) Aluminium (C) Iron (D) Silver

114. ‘sewréG-siflefludsafian oiré’ erand saflweur :

(A) Ygrsrev ; @ C.F. &me

C) Qrrorgmd (D) <piédiflge
‘MATHEMATICS - The queen of Sciences’ - said by :

(A) Pythagoras (B) C.F. Gauss
(C) Ramanujam | (D) Archimedes

= S i .
115-% HpId 7 -HEL GoLourL @m alsipmy e :

L s L1 1
(A) 2 B) 8 @ 24 (D) 3
2 < .
The rational number between 3 and 3 i8¢
17 1
1 . 3 17 1
A . 3 B) g © 2 @) 3

o - [ Turn Over
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116. Leni UL® Qbs Qe Lsfsatan Liphsetien &qug&aﬂaﬂtﬁw &l :
: | LT
(A) umbbsev Cuomrf (B) &p@@mm e
: Lo
© <irése Aaah D) SHHGRALT ST
Tussar silk is obtained from the secretion of caterpillar of :
(A) Bombyx mori (B) Antheraea mylitta
(C) Attacus ricinni (D) Antheraea assama
127, §or D S
’ 1 -&ur LG\ eremLig) :
1+ : :
3+—-—-—i—
2
4
@ 20 8 © 3 O 3
S .
The value of 4— ] is equal to :
Ve
3+—
o
4
o 1 . ’
A w0  IE B g D 5

118. ‘@riudler U erenm SIPLLLED Sreurld TS Wflencus FTiHSE ?

(A) 2 EpACwmevGELMbSET @meﬁWdUQu'ﬁmng
(C) G\uﬂGl_rr.lf.smul'_@a;dT (D) &“’F@m&mu;@&m
The group to which the plant Monkey’s Puzzie’ belongs is :

(A) Angiosperms (B)  Gymnosperms

(C) Pteridophytes (D) Bryophytes
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119. AABC -19é AB

=BC=CA=6 Qs.8. AB, BC wHmb CA YHw usshsafen eow

Lemeflser wpenpGu P, Q o
mib R . eul L Gs b
CQR @y fluienas A, B g G0, a1 CanariugBacr APR, BPQ wpp

Db C -6 enwwikiseners Q &l Sl
LEBen Lipri - & Clsrerr_eneu erafley Hlipedlu

A

l 1 15 1
14? @Q&.5.2 [B) 7? Q&.15.2 [C} ?QE.LB.Q (D) 27? QE.LE.2

In a triangle ABC, AB=BC=CA=6 cm P, Q and R are the mid points of AB, BC and

CA respectively. Sectors APR, BPQ and CQR have the centres at A, B and C respectively.
The area of the shaded portion is :

(A) 14% cm? B) 75 cm? (C) — cm? (D) 27

cm?

120. Qi ig i remiuGb AswedlnG pwetu@w urdefwr :

A)  Cuedeeav &lermeivig. flig wib
(C) enpLGym Lm&LT (D) ey

The Bacteria involved in the process of Retting is :

(A) Bacillus (B) Clostridium

(C) Nitrobacter (D) Yeast

[ Turn Over
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121. ppfleoadue Garyrsms weowsers elaufsseai :

A) 8.09. gL (B) Q&.8. Bevym

C) .8 Lrendled @ FTTEG) GTe0L L 6T
Ecological pyramid was first described by :

(A) E.P.Odum (B) K.C.Misra

(C) A.G. Tansley (D) Charles Elton

122. Sipsaan_ sppiseer g rmis. sfwrer ellen_emws CaibOsHEs.

sgapm 1: soasg LCrmGsfGuwmes wppnd wCsAGurgs sreuy CQedsaflgl
@aGerGembser o drare.

&apm2: o Spfleowsg srar Qsosalle wI HCL Gsar CrrEsrbaen

srenTLLI(H&lenment.
1 seum 2 & (B) 1 &f 2 seum
(C) @rer(w & ' (D) @rear(Hb Seum

Analyse the following statements and choose the correct answer.

Statement 1 : Lysosomes are found in all Prokaryotic and Eukaryotic plant cells.
Statement 2 : Centrosome is present only in the cells of some lower plants.

(A) 1 is incorrect, 2 is correct (B) 1 is correct, 2 is incorrect

(C) Both are correct (D) Both are incorrect

123. 6 Qearser @aanguiler euamslLBSSUILL HeTearen :
(A) urremensLOm avdleNQrenensom
(C) Csreerenswr (D) <W&GdHHEs6T
Stone cells are classified under :
(A) Parenchyma (B) Sclerenchyma
(C) Collenchyma (D) Meristems
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124. uEd @ Oanalls sraursdie em aOssEET R
() wrGerm_Crrum

<2 GLD.
(B) &ev@LLmr

@ adlev&LD _ (D) euramLm

An example of partial parasite is

(A) Monotropa (B) Cuscutta

(C) Viscum (D) Vanda

125. eeui @@ ussssms 10% sarEsuyuia dpEn Gurgb 10% Georuw

SdL_fpri. SUyssssHar GNss Ama T 330 aalld, s LS
efleneowireng) :

(A) ¥ 140 B) %170 @ Z 270 (D) %240

A person allows a discount of 10% and still gains 10%. What is the cost price of a
book which is marked at ¥ 330 ?

(A) %140 (B) T 170 (C) T 270 (D) Z 240

126. EpsaamL eramsata eThHS (D B&8m) eramenemr 6203 -Le sal (B> CUTE AW
euUTEELD HlanL &G ?

(A) 28 38 (C) 48 (D) 197
The least number which must be added to 6203 to obtain a perfect square.

(A) 28 (B) 38 (C) 48 (D) 197

127. @ran(h Wens cramsefian auissmisefler elgSwrsd 45. Hflw eramanten cuirdsoreang)
QU erarenilen BTN LBISDEGE FOD Tafled BBS THMSMETE &HTeHTs.

9,6 B) 9,5 (© 3,15 (D) 1,45

The difference of the squares of two positive numbers is 45. The square of the small
number is four times the larger number. Find the numbers.

(A) 9,6 B) 9,5 c 3,15 (D) 1,45

[ Turn Over
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128. 5Gwrfl wHUSH (keal/kg) SHafé@n siglimiuie srilturmarsafien aflwmren

auflens :
() eant ygar < B5Cser < QUL Grré < Hevésl

B) Blessf < B5Cs6r < QL Crma < MaML e

Q) m,@r_r).f_lygeh < BlevéaH . CULGrmed < 185Csen
Badsfl < Qu Gy < BaGser < sm,ca_rf)ﬂ_ggsh

Increasing order of fuel bas;zd on the calorific value (kcal/kg) is :

(A) Hydrogen < Methane < Petrol < Coal o

(B} Coal < Methane < Petrol < Hydrogen

() .Hydrogen < Coal < Petrol < Methane

(D} Coal < Petrol < Methane < Hydrogen

129. o QuidrssHen gﬁ)@ﬁnmgm &y T 14,580/ -. Bser whiy @eubleum(y
UGLPD 10% Gaophs) umdng. ppem QU(HLBIS(EF&EE (e Steuel b El ir58) e
w0} eremen ? ' ' B ‘

(A)- 15000  (B) % 17,000 @ ¥ 20,000 (D) % 11,000

The present value of an engine is ¥ 14,580/-. What was the worth of

the engine
3 years before, if the value depreciates at the rate of 10% every year ? :

(A) T15000  (B) ‘¥17,000  (C) 20,000 D) 211,000

130. &ipssamid siweflsefar e 2 TTREET @D cuflensylg auflengLyy |

Bsgeyib.
02‘,F",N_a+,Mg?+ (B) Mg?*, Nat, F~, o2-
(C) F~, 0%, Na+, Mg2+ (D) Mg2?*, Na*, 02~ p-
~ Which of the ifbl_lo“fing:isithe correct de_creasiﬁg order of r;eldii ?
(A) OQ“,F‘,Na+,Mg2+‘ B) Mg2+,.Na+,F‘,02‘
(C) F-,02-, Na*, Mg2+ D) Mg+, Na*, 02—, F-
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131. org) soupns G]un@;bgé]g)@ ?
(A) urrlﬁ]@iﬂ ST s&g100k — erdranr GRUITENTLLD eTeimss(gryL SEGLLS Do
~ [ . '
B anDeir o o8 - Genaamirge - 2.488Mhs QLG Hper
@ ShoolIT S5&6ULD — ls, 25, 2p, 3s, 3p, 3d - &L (Hge |
(D)

WOena; Bleneoliysgeitanto — p3, p®, d°, d10 - Cr{Ar] 3d5 4s!

Which is wrongly matched 2 °

(A)
(B)
€
(D)

‘Pauli’s’ Exclusion pr'mciplé - all quantum numbers non-identical —
‘Hunds’ rule - pairing ~ maximum multiplicity |
‘Aufbau’ principle - 1s; 2s, 2p, 3s, 3p, 3d - built up.

Extra stability - p3, pS, d5, 410 - Cr|Ar] 3d5 4s!

132. @gﬁllﬁllﬁ]l'_l_ LU@LeeLw ary ganlar oiwpsswrarg 600 K GeutiuBlenaudes
0.4 atm erafléd 273 K Qeuliiflanaude) wigper SI(pSLomeng : :

(A} 18.2 atm (B) 1.82 atm OC) 0.182atm (D) 182 atm
At 600 K a volume of gas has a pressure of 0.4 atm. The pressure of the gas at
273 Kis: | 7

. {A) 18.2 atm (B) 1.82 atm (C) 0.182 atm (D) 182 atm

133. ‘0’ pafleflosd eraramih ¢ Sigoayth 2 L R(b SATERTTGS gﬁq@lﬁ: @oflwrang
smofledlapagl earBmedls Qedpg. smfld eefluler HasCaisn ¢ erafld efluireng
SETEnTTG§ GLIg.enand: GLis o (HS5Is0seTEsd Srab wrg ?

(A)

t at e
- B) tnc @ S L% [

Light travels through a glass plate of thickness ¢’ and having rfefra'ctivé.ingiex n. A
ray of light travels from air into glass. If ¢ be the .e',pced-ofhght HLAL, thie hme‘takcn
by the light to travel this thickness of glass plate is : .

t (B]tﬁc (C)—'_.(D)-—
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134. A, B, C wpmitb D erentian Cgm_rEfuimer e ereamser, GLogiib sieumier e 47
. erefiléb, B wdmib D Bapdlsr QumEES Qgrans : ‘

(A) 1599 B) 1763 (© 2679 1845

A, B, C, D are four conse_cﬁtive odd integers and their average is 42, What is the
product of B and D ?

(A) 1599 B 1763 . (Q 2679 (D) 1845

% |
135. (_IIEJ =2x/§, arafled x -ar i :

1 | = D R
@ 3 C® -3 © -3 O
If (-1-15) =23 then xis : -

1 - 1 1
@ 3 ® -3 © -3 D) 5

_ a‘x - 2 . .3
136.. = =" 4§ Y
(x+2) (2x-3) ~ x+2 2x-3

71‘- ® 5 (Ctl_ 4 o s

erafley, ‘a’ -ao mﬁﬁlq :

; . B s P 3 b i, b
f e - . M then the value of ‘a’is :
(x+2) .(2x-—3) X+2  2%-3°
@ 7 s © a4 D) 8
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137. 5\/? Qs.18. o raperer QUL S\ et mcmmuﬁu@tb WA Gecuousg e L
ST T, B

(&) 125 Q.82 100 @582 (C) 50@s.82 (D) 7542 Q&.182

5J§ cm is

(A) 125 cm? (B) 100 cm? (C) 50 cm? D) 7543 cm?

138. soferd Qaner.. Gy 2 Garsgsrarer G sLgflsellen WengsanLser penpGu
S @ubaer LHmib 10 Gibser. 2N&EL_gsefen <y riiselen ellflzib :

@) 1:43 V21 € 2:1 D) 1:2

Two wires of same mateﬁal and lehgth have resistances 5 ohms and 10 ohms
respectively. The ratio of radii of the two wires is -

A 1:42 B) J2:1 € 2:1 D) 1:2

139. 6 <y ahraar g Ceuanaenis HTeT RaTmiEE 10 wenf) Crrb Ceuenen Qsuig) 24 BT sefle
QPILLILIT. 9 oy, BTEET el cpami&@; 8 wenfl Grb Gousnay Qeiigme TEEDE Bl _sefh
Ceuanavens apig i ? _

(A) 25 prsar 20 prisar  (C) .15 prisdr . D) 30 B sdr

6 men working for 10 hours a day can do a piece of work in 24 days.. In how many
days will 9 men working for 8 hours a day dq the same work ) , :

(A) 25days . (B) 20 days (€} 15 days (D) 30 days
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140. 505 Goriey Gen SHaNILTG THUGADE :

(A) 'Qsmmé;@asrrgw B} éancvCameneven
(& %6359“5]‘&63? OM&iq.6 SHbled
Muscle fatigue is due to Ithe accumulation of : -

{A) .Glycogen | (B) Apetylcholine

(@) Oxygen - (D) Lactic acid

141, Gger s [ 9fen &1 SnDTEGLD. |
&) Ggaf peps (B) - Czafl Qum'_@ (C)  Csat uma ‘L.;CSUrrGurmS]Gfu
Resin is the component of __ -

(A} Beevenom  (B) Bee bread (C) Bee milk . (D) Propolis

142,50 Geg.15. éﬁ]ll_l_(g)ai).L_u_l FEHSFLD QEraTL evamL L @en 4 ms~! Gausgdlev
Buikigéng erafle, sésrider Cament SasCGosgamgs samsdl[Hs.

(A) 20rads™! (B) 200rads~! (C) 125rads”! 16 rad s~1

A scooter is running at a speed of 4 ms~!. The diameter of the scooter wheel is
50 cm. Calculate the angular velocity of the wheels.

(A) 20 rads—1 (B} 200rads~! (C) 125rads™! (D) 16rads-I
143. (B QumEEH AsTLT suflensule 3-eugi 2. My 2 erafled DBe Wpged 5 2 giriseflen
QumésH e : |
@ st @; 25 ., (@ 10 (D) 15
If the third tefm of a G.P. is 2; then the product of the first 5 terms is :

@ 52 @ 25 . © 10 . D15
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144, CLpeneren LIS o : ~
.”-'5‘ SOO! SmewtiL@in Yemereseueyseler sfMwirer auflens -
@ ‘%—QUW@WLHTT. DTEEIMUD Feuay, LGl L i

B L [ "

(B) ATESIMLH seuay, LwrGuol_ g, - ubrrGol_ L
©)  gwrrGuor i LG L, orssamiig Fela
(D)

ATESTLH sFeuay, e rrGor L, LGl L

Find out correct order of meninges that cover the brain.

(A) Duramater, Arachnoid membrane, Piamater
(B) Arachnoid membrane, Piamater, Duramater
(C) Duramater, Piamater, Arachnoid membrane
(D) Arachnoid membrane, Duramater, Piamater

145. @ 2 erefLpp Cararsen sansierey 11352 &.0&.18. whmib ger Qeuafl <rid

8 Q&.\B. erafler 2&ECHETaTSSHlen 2 6Ty yid [w=¥ srdfra;) ;

(A) 4 Q5. (B) 6 @s.i5. © s@ss8 D) 7 Q@s.is.

1352

Volume of a hollow sphere is : cm3. If the outer radius is 8 cm, then the inner

- 24
radius of the sphere 1s : (w=?)

(A) 4cm (B) 6cm (C) 5em D) 7cm

146.% 1600 pas 5% @ &L iy Gﬁﬁb Qsranr( rssen o am@Oaeaian
7 1852.20 G ? |

@A) 2 (B) 4 ) 6 "

How many years will it take for a sum of ¥ 1600 to become z 1852.20, at 5% per
annum compound interest ?

A 2 B) 4 ) 6 (D) 3

A [ Turm Over
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147. UL oy piler GnéEGs 6 km/hr HeanaGeussdled @&g&ﬁﬂu@_‘ﬁ@é‘l- UL &l
Qsr@uuwen HesGeusd 10 km/hr erafled <y pifler @@ Bl HansGousid Wg 3
_ 4 km/hr (B) 6 km/hr | (C) 8 km/hr (D) 3 km/hr

A boat is sent across a river with a velocity of 6 km/hr. If the resultant velocity of
boat is 10 km/hr then the river is flowing with a velocity of : ]

(A) 4 km/hr (B) 6 km/hr (C) 8km/hr (D) 3 km/hr

148. lﬂsirm@eummﬁ)geh TE (Pig6yn SO cTeRTanamTLl LMD ?

7 8 5
A ot " s S et —
A 5 ® Tz © =% D 13
Which one of the following has terminating decimal fraction ?

8 S 1

& ® 15 © 3 o 5z

|~

149. Quiafadwev QrésCsrens Cpreows GarUUBSS rDNA QgmfleomL LigSlenm epeold
QupUIULL eneul_LLblen :

B, (B) B, (C) Bg (D) C
The vitamin which is synthesized by rDNA technology to cure pernicious anaemia
is : '

(A) B (B) B, (C) Bg (D) C

150. greuymiseTa STERTULHLD 2 NES DT SHEHEE LDG6ILIWIT :

5lé1q @nTevlg. (B) &evGomemmeivig

(C) Q@giGurenmevly. . (D) oGurl GLremmevlg
Sleep movements in plants are otherwise called as :

(A) Nyctinasty (B) Siesmonasty

(C) Thermonasty : (D) Photonasty
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u@S-IV / PART-IV

Yfley-B / SECTION-B

gFepsellwey L muser / SOCIAL STUDIES

@UEHae 60 eflamsset o dreren. SiEmeEE clamssE@EEGD slwLwLcss GouamBid.

There are 60 qucstionslin all'in this Part. All questions are compulsory.

91.

92.

‘o DwkQsrarLrer sroamy’ froursag HlLsHd Bers Qupes Emer

r(PéGIenTEHng :
(A) Berml# @ rresf) LOMRIELDLDIET |
(C) el&sd umd (D) syeveud

“UYYAKONDAN CANAL’ speaks about her contribution to irrigation. Who is
she ? : ;

(A) Meenakshi ~ {B) Queen Mangammal

(C) Lakshmi Bai | . (D) Saraswathi

g swbauef Brafish ahss sTapags sTHsS ?

' a)  ererdnié STl UTRTPIIEE PHULL STb

€ arerpse dpesu stobn (D) QETd uyRTHRE STl

Indus Valley Civilization belongs to which of the following periods ?
L cr, 0 v atnplg e aasme s e

(A) Historic period (B) Pre-historic period

(C) Post-historic period ** | (D) Proto-historic period

[ Turn Over
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93. 2 ws wasd Qsrens SHemb s NgHEELULIEGID HIET :

oOame 11 (B} GelLibLir S
(©)

LOTTE 8 D) Guol

World Population Day is celebrated on :

(A)  11th July (B) 5t September
(C) 8th March (D) 1%t May-
94. aseR iU L [T eremg) B (GLD.
Galtiy (B). eugBLOTEID C) 2puss (D) wuflwrhob

Consumption foregone is called _

{A) Saving (B) Income (C) Production (D) Exchange

95. apruurellés résamen grafliug senesfltisdr o dreren ?

(A} 2 B 4 @ 6 (D) 8

How many granaries are there in Harappa ?

(A) 2 (B) 4 C o6 (D) 8
96. swewirsaflen GCerdrenssaer allg U SS Gurrg,.air'raseﬁ __________ eres
PSS LS. '
(A)  Gurdlsggieur - B QegmymeiL T
@ Sigsmisyiser (D)  evGeugmbLFTaer
The pr_eceptc}rs‘_of Jains.are called |
(A) Bodi Batvas . " (B) Zoroastrians
(C) Thirthankaras (D) Swetambaras
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97. LLigwev-I Liliquied-II ot & Qurmssl, ECwp G]a;n@e‘;aa;ﬂﬁﬁ.@eimn AN O ELT ¢

Qaran® sfwrer cien s Caipos0.

l_il'_lq.u.léo-l C ugwed-TI
@ Qadld ) SirEeTeaT
(b} yevLgT (i) e a@m_rﬂé;&;rr
(€) umbLiTey (i) Qe <L Un9REsT
@) QG@mDf (v) eomGst
GOIE :

98.

(@ (b (o) (d
@y vy @ G
®) ) @6 v @)
€ @) @ @ @
(D) (v, ) G (D

RBT -2

Match the List-I with List-IL and choose the correct answer from codes given below.

List-I List-1I
(a) Velds (i) Argentina
(b) Puszta (i) North America
(¢) Pampas - (iii) South Africa
(d} Prairies (iv) Hungary
" Codes : .

(@) () (e} (d
) @ (v @, @
B (@ @ ) (1)
© @) @ @ @
D) @ 0 (i) (i)

A& Geug Srew g,n'ai& pjrremu.J‘éf'.Qéﬂ Quiwrr

(A)  &BLITEHLD BHleigsm
the Rig Vedic period were known as .
(C) Krishnala

Gold coins used in

(a) Satamana  (B) Nishka

(©) :aﬁ\@éqi’s‘mebtr'

(D) b

(D) Dam

[ Turn Over
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99. Ary LoGaparfluned Wwsd éﬂaé‘ wpeop Qb5 G @'-m@‘”é‘“"‘“%" 1853 -
@eemas Ll Lg
(A) LG LHHILD FreTT (B) s@&ssT OMID ClFeTenat
(©)  umbGu whHmid Sp&ETT EDEFST DD HSTT

_ The first telegraph line introduced by Lord ‘Dalhousie in 1853 ran between :

(A) Bombay and Thana (B) Calcutta and Madras

(C) Bombay and Agra _ (D) Calcutta and Agra

100. Al Gaug srosHe Gedaflon Geammd wAnA U Lg |

(A) gmsb (B) eewrals GQum@mer

7. () Hlewd s @ STOBLSiT
During the Rig Vedic period wealth was es@ted in tel;ms of their :
(A) Gold I. | (B) Food Grains

(C) Land ¢ (D) Cattle

101. 96 26 W 3IPES 'as@emh. DD

(@ cufedu B owvdCamedu

(O urenp&sGsmerid ' (D) ﬁr'rés(ﬁa;rraﬁb

The innermost layer of the earth is called core or

(A) Bi_irysphere o (B) Asthenosphere .

(C} Lithosphere b e (D) Hydrosphere
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rrgavgrer  (B) SBlPBTH (C) Gayemr

(D)

Pmchayat Raj was first introduced in India in October 1959 in :

(A) Rajasthan (B) Tamil Nadu (C) Kerala

103. Qe HipsE A Fal L enWLiL| 2 (Heurem BLar(H :

(A) 1957 | 1967 (C) 1985

ASEAN was established in :

(A) 1957 (B) 1967 ©(© 1985

104. epaTmTeug) USSELOW B 6TrhiE sal L LU L g ?

(&) @ibiSef ' ®) FTYHTS © egulah

Where was the third Buddhist council held ?

(A) Lumbini (B) Saranath (C) Ujjaini

105. &y préliboir Gamppelss LIy :

(A) smSW (B) s&mEpeu @ Fl(emeu
Vira Narasimha founded the dynasty of :

(A) Sangama (B) Saluva “(C) Tuluva

(D)

(D)

(D)

(D)

o)

(D)

STHTL&T

Karnataka

1995

1995

uirl_elS]qgﬁluLb

Pataliputra

2Arei(p

Aravidu-

[ Turn over
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106.

Ul iqwed-I, ulgwed-II o L6 sfurs Aur@sd £Cy Qar@ssriLGerer
GhuIPsmars QarerT(H Gﬁ]a)LGDUJ GaihQas@. '
U 1qw60-T - ' | Uiiquieo-IT ‘
(a) @Lq_wr @) srRCur
(b)  smCsrsh @)  préls @enpyaer
() Sybwygrr (i) yeuGeneiveui
d) Gargreuf (iv)  ueflumy
GHG :

@ B © @
(@) @ & o @
® @ o @ o
© ) @ 6 g
©) @) @) @ @

Match List-I with List-It correctly and choose the answer from the codes given
below ; ;

List-I List-1I
(@) Odisha . () Tsangpo
{b) Gangotri ', (i) Nasik Hills
(c} Brahmaputra (iti) Bhuvaneswar
(d) Godavari (iv) Glacier '

Codes :

() ®m (o) ()
(A) @) v @ )
B) (i) (v) () ()
© v @) @

- D) @ @) ) )

107.

SODHIL igar uS]asuG}urﬂu.n gL PlassrHseT SienibbEieTar wreul Lin ' g ?
(A) BrSUUL g enmb GI_QJIII’

(C) Qeenenan (D) QrroErsSyTD ‘

Largest Mangrove forest of Taﬁn'lnadu is Located in which District ?

(A) Nagapatinam (B) Cuddalore 7

(C} Chennai (D) Ramanathapuram
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108. ‘%Q‘SEEWL'G”-“’@G" T8 Geng) ‘rf,]a)ggﬂm @“-'GULIGSGTﬂGD DD aran GHOGGS
@) b Quipamsuier QsraL ey

RBT - 2

5.

(B) l,fﬁlmg:,@m ety rj,]mwu.:rrmg S|
ﬂmg@m Csfiliyg semano IMILIGLD
‘ C‘SLDGGU @85IT®5E5LJI.IL.L TEIQLD E)evenen

Mention which one of the below is not a characteristic of Lénd l?
(A) La_nd is free Gift of Nature

(B) The supply of Land is not fixed

(C) Lands differ in fertility

(D) None of the above

109. 2. aélen apsger @gaﬂd)_ qreutiuc L Guneuﬂsm.cné QewpeanasCerer.
- @enem -1 B Gesmsi -1
@ ggmen -1 | - (D) eburl -1
. The World’s ﬁrst Weather Satellite is -
-.(AJ INSAT-1 . (Bj LANDSAT -1
(C) TIROS -1 (D) SPOT-I

110. ‘géar eTe @)rramiey oawLitlener &@QJH‘&S&E]&J@JI’T Wi ?

- 5 Carelpg A . ® &® G5 Lsgni

©) G BTes (D) G iiggoen S

Who establistied the KHALSA’ military organisation ?

() Guru Govind Singh (8) Guru Tegh Bahadur N
{6)  Ghans Nanalk (D) GuruAgun Singh

A | | | [ Turn Over.
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111. Sy pourfideT UMigll LT QST BIenss QST@GSSeui :

(A)  mibwmpeuT @ Brspeat (C)  <pedLTeT D) Quilumpam
Hymns of Alwars were compiled by : )
(A) Nammalwar (B) Nadamuni () Andal (D) Perialwar

112, ucuﬂurrg]aam u@g@g@ggm QFweSlamen g@eurr@m Brpamesl Gumen oewleer
Csaisma @@ HesCambpd :
(&) grhiso - (B) ursmen
© =@y @sdr - &ité

The arm shaped, chair like depression formed by plucking of glaciers is known
as: F .

(A) Cliff - (B) Barchan
(C) Aretes (D) Cirque

113. spgreuans SRS sreariL@Bn L b :

@) Cuop@ eukisrerid . - (B) ievevmb
(C) Usmr ' D) gfar
Sundarbans are found in : ' _

(A) West Bengal (B) Assam
(C) Bihar . (D) Orissa

114. pg swQea prafs geopws By Cargsrd sam®Agssii’ rblebd

ORI B @rrgevsrean (€] ugsm 0) Gsmeur
e Harbour city Lothal in Indus Valley Civilization was discovered in the state of

(A} Gujarat (B) Rajasthan (C) Punjab - (D) Goa

115. yflw sparer Qunme_ser 2 55TUATCss5Hd Harss GLib :

(A)  Sgrer @ Seren (C) wmrevdl (D) o_L_gniT
Neolithic remains are found at ' in Uttar Pradesh. '
(A} Chirand (B) Belan (C) Maski (D) Utnur
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116. Sp&aTE@ID QBHW Gl WTES Se@euiSmer SN g UiLenLuie aflasiu®SS

eflenL_wetl.

(@) Dr. gr&i o Gaen b) S V.V. Al

() Dr. @fﬂr@amﬂq Ggsmg  (d) Dr. @urandmegenran
G CERE

(A) (), @, (), (© (©), (@), (@), (b)
©) (a), (), (), (d) D) (a), () (@), ()

Arrange the following Presidents of India in chronological order and answer by using
the code given below :

(a) Dr. Zakir Hussain (b) Mr. V.V. Giri

(0 Dr.RajendraPrasad (@ Dr. Radha Krishnan
Codes :

(A) (b), (), (d), [c) B) (o), (d), (@), (b)
(C) (a), (b), (c), (d) (D) (a), (b), (d), (c)

117. Haurgd) Hleorsemae oyarasts LuaLGEHW AereyGare

srd (B) ureydl (C) &nagmiT (D) uEHsTt

Shivaji measured the lands by using the measuring rod known as

(A) Kathi (B) Parauti (C) Chachar (D) Banjar

118. @BHSw o safwenndSlen FHCLITEDSIL SDLEDLO pHLE -

@A) oo g GGTeH (B) eré.6T. 555
@ Gy, eraiv. GESTT D) Gag Uted ey
The present Chief Justice of the Supreme Court of India is :
(A) S.Y. Qureshi (B) H.L. Dattu
(C) J.S. Khehar (D) K.G. Balakrishnan

A | ( Turn Over
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119. ‘5L 1g L& seneuslem @emeurgir erem Siapp&E&sIULL el wir ?
QT EQQUD & (B) @DoLDMILLET
(C) <=&Um (D) ggﬁ)mﬁu&fr
Who was called as ‘Prince of Builders’ in Mughal period ?
(A) Shah Jahan (B) Humayun
(C) Akbar (D) Jahangir

120. aurad) eSg1d eTICLITE 2 WiGsLLBHEDS ?
LenTei&aLD B) olera Poawrs QOSSP
(C) Cauemeullenenio (D) wemTeuUmL_LLD
Bank rate is raised during :
(A) Inflation (B) Stable price
(C) Unemployment (D) Deflation

121. ydw QurmeTTzTTSSlen SHS erenmenLpEsLILIHLIGIT :
(A) LOTTaHE J.M. &are (C) arré mri&ev (D) Q&Eermig Wi
The Father of New Economics is :
(A) Marshall (B) J.M.Keynes (C) Karl Marx (D) Kautilya

122. swsgieu e flenwo B HHw srduaamwvude 5 dfsalda aprsuul (Hdrerg.
3jemey : . '

(A) 94 16 (b eHlH 20 cuey

B) 94 15 dmbg efld 19 cueny

© 98 14 Aps 98 18 ey
(D) &84 13 S(mpgl €98 17 euenry

In the Indian Constitution, the Right to Equality is granted by five Articles. They
are :

(A) Article 16 to Article 20
(B) Article 15 to Article 19
(C) Article 14 to Article 18
(D) Article 13 to Article 17
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123. @Hu weallualen 2amamouner HfsrripoLiL ST wimir ?
(A) Ggsw wHER @ G LTES SO@eT
(C) SO GLTEHS S@QEUIT D) esspHwean FHUH
Who is the real head of the Indian Union ?
(A) Prime Minister (B) President
(C) Vice-President (D) Supreme Court Judge

124. QUITE TS LT SHar eflermadt GapubGUrg Liersser AL196 eremen HlEQLD 7

(A)  uemrgdlern wHIL GODULD
(B) uemsHen wH LIOTS
@ LSl L e w(HD
(D) CuGe GeroeliLlL O@SSID
What will happen to the value of money if prices of goods fall ?
(A) Value of Money Decreases
(B) Value of Money remains Unchanged

(C) Value of Money increases

(D) Al of the above

125. @Qurgnieugdled ‘engligTil’ wpenments 2l psluBSS weuir wirr ?
(A) umui B) apOwryer (C) CQegiTagm @ SELT
Who introduced the ‘Mansabdari System’ in military administration ?
(A) Babar (B) Humayun (C). Shershah (D) Akbar

126. ‘@argsm aeiD B eThE BETHHlen ﬂﬁwﬂému LpHE GHUADHpg ?

(A) SORSED urLelliysdrd (C) o goulef

D) Aggmyr
The Book Indica’ mentions the administration of which city ?
(A) Kalinga (B) Pataliputra (C) Ujjaini (D) Siddapur
A
[ Turn Over
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127, U QU TOCRNTT PERTEBISH G®LaUMyE Camllenas &Ll -

(D)

(A)  ppHGITEST
) epenprid GCarellpsT

ppomb Agayat

2ICLors aurayl

The Kailasa Cave temple at Ellora was built by :

(A) Dantidurga (B)
(C) Govinda IIl (D)
128. 2 & Guer [BHITer :
g 21 B) elyéd 21
World Forest Day :
(A) March 21 (B) April 21
129. & Geug &radd :
(A) ~ &.qap. 1600 - &.ap. 1000 (B)
@ 8.qp. 1500 - &.ap. 1000 (D)
Rig Vedic period :
(A) BC 1600 - BC 1000 (B)
(C) BC 1500 - BC 1000 (D)

Krishna I

Amoghavarsha

(C) Guw21 (D) LomiE 22
(C) May 21 (D) March 22

&.@p. 1000.- &.1p. 600
£.ap. 1000 - &.ap. 500

BC 1000 - BC 600
BC 1000 - BC 500

130. waErsd Cosfl L maT ennpgeTer LOTEULLLD :

(A)
(&)

EMEhELYD
FOrr@
Muqﬂﬁ National Park is located in :
(A) mChGEPuram District (B)
©)

(B)

 District

(D)

CamubLSgniT

Bl

Coimbatore District

Nilgiris District
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131. uggl purseile) @euGeuras @ymmb BLI(HLD

RBT - 2

eow gmiEGs eumpdlemmant.

(A)  saflurt gy B) uaflsedr g

€) Gsmfle genp @ Geuermesr genm
Six out of every ten persons in India depend upon
(A) Private sector (B) Tertiary sector

(C) Industrial sector (D) Agricultural sector

132. 2 eodlen WsLQUAW Bidenssd) Bleneowid DenpgieTer @LLb :

(A)  L&rT-pRsH (B) ablymEL

WPLLIGTETSSTE S <2 6newT
The largest Hydro-electric Power Project in the world is :

(C) =eveumen

(A) Bhakra-Nangal (B) Hirakud

(C) Aswan (D) Three Gorges Dam

133. <p&dle GRlussdiser Lﬁ.lﬁﬁT Cladlap L LILBH® ThuBHems.
A) & 20s6 (B) uerLw(®és
@ WIS 2 (H& G (D) Qe wbh&Es
In layer, the Sun’s rays are ionized.
(A) Troposphere (B) Stratosphere
(C) Ionosphere (D) Mesosphere

134. 9l 6y @pdwmreller s saaemn FHudwrs Qmbsaui
A)  eleedlwib aprédenen (B) & Gumiey
@ &ir. eraflgm @G (D) o, Soe ms&réun
The First Chief Justice of British India was

(A) William Hawkins (B) Sir Morse

(C) Sir Elijah Impey (D)  Sir Thomas Manroe

[ Turn Over
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135. aprepbgl prieL& Csibg waser eren BevLpdsLILI(HSlTpenT.
(A) Creflwrser L EGESTTTEET
(C) <mSCowirser (D) QCrErE&sTyTSeT
The people of Holland are called .
(A) The Danish (B) The Dutch
(C) The British (D) The French

136. @Cr ieTeyenL W e pulaTenaud QareTis (HEELL Lo QL s Q)aeamé@Ld ShLemner
CarhaEnsE erem QUi
(A)  sran@rser F0 e s Car@aer
(C) &w Qeulius Car@ser (D) &L AWS3H Cam(hser

The imaginary lines joining different places having the same amount of rainfall on the
map are known as :

(A) Contours (B) Isohyets
(C) Isotherms (D) Isobars

137. swavdlms Cwens fasar_ Ssaflsanr sfsseur wim ?

H (MmO HIIEEHT (B) @rEprs prw&st

(C) NEF&FSUL BILSST (D) efluirTsey BIL&SST
Who patronized the sanskrit scholar Neelakanda Dikshidar ?
(A) Thirumalai Nayak (B) Raghunatha Nayak
(C) Achutappa Nayak (D) Vijaya Raghava Nayak

138. Caren_uded Qeuliub s@Hewwrseyb @Gl aragded @aiT sHawwrsad Haeab
sTeblene :

(A) sLoTHéEs srablae

serT_& srablane

(C) umeussTHy Sreflena

(D) wsHwu sT&EELO sTHlena

The climatic condition that is very hot in summer and very cold in winter is
called :

(A) Maritime climate

(B) Continental climate

(C) Monsoon climate

(D) Mediterranean climate

)

BT i el R e B e
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139. @rmorgymflar LGS wrissD :

(A)  ASDEUFHLD (B) geneugld

(C) ofy sauld oflfavL_Tgamausid
Ramanuja’s philosophy was known as

(A) Advaita | (B) Dvaita

(C) Veera Saivam (D) Visishtadvaita

140. wrhlemsarae sl L k&EHHEE seeGuDm) BLSGILIGUT :
(A) &FLL DemEET @] FoanT G WIS oo
(C) Gywuras Seeveurm (D) GysL SeMEFT
Who presides over the meeting of Rajya Sabha ?
(A) Law Minister (B) Vice-President

(C) President (D) Prime Minister

141. orflwe ey souulern arasE () SPRETTS QMBS :
A)  Hm. C. ,@qﬁg(ga;rrurrmrré&mﬂu_lrrr'r
B) . gauaniard G
(C) Dr. QurCgpdr Grerd

@) Dr. B.R. 2bGugsT

Who was the Chairman of the Drafting Committeée of the Constituent Assembly ?
(A) Mr. C. Rajagopalachari |

(B) Mr. Jawaharlal Nehru

(C) Dr. Rajendra Prasad

(D) Dr. B.R. Ambedkar

[ Turn Over
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142. Ul gwe I g ulgwe I 2.1 e Qurmss, Gy Qar@asuL(HeTer GHUBsemer

Qarenr(® sfwrer eflev_emwg Carps@ :

UL iguwie0 - I UL igwie0 - I
(@) euL Gamer Geflit &reid () mOan2l
(b) euL Gamer CamenL &red (i) Gelbur23
() euL Gamer u&HG STeOLD (iii) q&FDUT 22
(d) euL Camer @enewydi &red (iv) womi& 21
GUINCERE

(a) (b) (c) (d)
(A) () @ (@) (@)
(B) (v) @) @ @
i) @) (v) (i)
(D) @) (@) @ (v
Match the List-I with List-II and choose the correct answer from codes given below :

List-I List-II
(a) Winter in the northern hemisphere (i) June 21
(b) Summer in the northern hemisphere (ii)y September 23
(c) Spring in the northern hemisphere (ii) December 22
(d) Autumn in the northern hemisphere (iv) March 21

Codes :

(a) (b) (ec) (d)
(A) (i) (@) () ()
(B) (v) (1) (@ (1)
(€) () (@ (v) (i)
(D) ) (@) (@) (i)

143. 1930 -6 wifo @iHw Quansdonpr oL Leamelld BLSweui wmi ?
LI&LIT. pdgiol sl Qrl gk (B) UeRTqS Fomumi
(C) m&LT. eren. STLOTLDLITET “‘{ (D) epeugnt @uromdigd
Who organised the All India ngeﬁgﬁ Conference at Pune in 1930 ?

(A) Dr. Muthulakshmi Reddy =~ {B) Pandit Ramabai
(C) Dr.S. Dharmambal (D) - Moovalur Ramamirdham

L d 78 ;
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144. uararm_(H béloemd ersgemear BHLHsmer Qarair_g) ?

(&) 10 Hudser  (B) 25 BHudser (C) 5 BHudsaer 15 pAuflser
The International Court of Justice consists of :

(A) 10 Judges (B) 25Judges . (C) 5 Judges (D) 15 Judges

145. Garae BTigen s eumlibg SiFsi :

(A) 2 guwewren (B) QrCwrflswen
(C) Wb Gemyen @ GyCeangds
Who is the famous ruler of the Kosala Kingdom ?

(A) Udayana (B) Pradyota

(C) Bimbisara (D) Prasenajit

146. 2 afigyerer Gurmflsafien srrefl 2 eufiGww :

(A) 350 &ym/&.4. @ 35 &ymb/&.4.

(C) 135 Slymn/ 4.4, (D) 40 &ymb/&.4.

The average Ocean salinity is : |

(A) 350 grams per kilogram (B) 35 grams per kilogram
(C) 135 grams per kilogram (D) 40 grams per kilogram

147. SIPenT S|LIGRT 2 W (PSS AT eIy BiessuuBEng.

GHeor L& Crens

(B) CLmeL_ybev

(C) Qarflwrellenv eflens ;
(D) i WeRTL LD ¢
Subtropical high pressure belt is called as :
(A) Horse latitudes J
(B) Doldrums

(C) Coriolis force

(D) Belt of Calm
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148. (i) yedl saeusmed @re| LG e (meurdles.
() yeil Gflwenar eueid UmHEUFTE LI(hHeuSTERISET ng@yﬁwﬂ)w'
(A) () (1) geum
() (i) &
€ () seum (i) &

(D) (i) & (ii) geumy

() The earth’s rotation causes day and night.
(1) The earth’s revolution causes seasons.

(A) both (i) and (ii) are wrong

(B) both (i) and (ii) are correct

(C) (i) is wrong and (ii) is correct

(D) (1) is correct and (ii) is wrong

149. UNHCR erenug) ars@iLen OsmienLwig) ?

(&) BEYbosseT o DIGHET Hove

(C) o as &aafrg;rrlnb (D) &evall Heven
UNHCR is related with what ?

(A) Child Welfare (B) Refugees Welfare
(C) Sanitary Welfare (D) Education Welfare

150. T QU(RHLOTETLD GTETLIG) :
Qorgs waEsaT Agrensaw Awrss B B - PUSHLTD UGS
(B) Qumés 2 aTHH 2 HusHerws Friigen Grgs WEEET CFTOEILITD uEGEHS0
(C) Gurss wéser Agrasamw Awrss BB -HusHured CumEEse
(D) Qurgs pr® 2-HusHew uaflyfiGaurfiar cramaflsmaio QumpsEgo
Per capita income is : !
(A) Dividing total population by GNP
(B) Dividing GDP by total popu{*ion
(C) Multiplying total population by GNP
(D) Dividing GNP by number of pegple employed

-00o0-
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